
Honors Algebra II       Name       
Graphing Absolute Value Functions 

1) 𝑓(𝑥) = |𝑥 − 2| − 4 
 

 
Vertex:                                    AoS: 

Domain:                                  Range: 

Max:                                        Min: 

Int of Inc:                                Int of Dec: 

X-Int:                                        Y-Int: 

End Behavior: 

 

2) 𝑔(𝑥) = |𝑥 + 1| 
 

 
Vertex:                                    AoS: 

Domain:                                  Range: 

Max:                                        Min: 

Int of Inc:                                Int of Dec: 

X-Int:                                        Y-Int: 

End Behavior: 

3) ℎ(𝑥) = −2|𝑥| + 5 
 

 
Vertex:                                    AoS: 

Domain:                                  Range: 

Max:                                        Min: 

Int of Inc:                                Int of Dec: 

X-Int:                                        Y-Int: 

End Behavior: 
 
 

4) 𝑓(𝑥) =
ଶ

ଷ
|𝑥 − 3| − 4 

 

 
Vertex:                                    AoS: 

Domain:                                  Range: 

Max:                                        Min: 

Int of Inc:                                Int of Dec: 

X-Int:                                        Y-Int: 

End Behavior: 

  



5) 𝑔(𝑥) = −|3𝑥 + 6| 
 

 
Vertex:                                    AoS: 

Domain:                                  Range: 

Max:                                        Min: 

Int of Inc:                                Int of Dec: 

X-Int:                                        Y-Int: 

End Behavior: 
 
 

6) ℎ(𝑥) = ቚ
ଵ

ଶ
𝑥 − 2ቚ + 3 

 

 
Vertex:                                    AoS: 

Domain:                                  Range: 

Max:                                        Min: 

Int of Inc:                                Int of Dec: 

X-Int:                                        Y-Int: 

End Behavior: 

7) 𝑚(𝑥) =
ଵ

ଷ
|2𝑥 − 8| − 2 

 

 
Vertex:                                    AoS: 

Domain:                                  Range: 

Max:                                        Min: 

Int of Inc:                                Int of Dec: 

X-Int:                                        Y-Int: 

End Behavior: 
 
 

8) 𝑧(𝑥) = −4 ቚ
ଵ

ଷ
𝑥 + 1ቚ + 1 

 

 
Vertex:                                    AoS: 

Domain:                                  Range: 

Max:                                        Min: 

Int of Inc:                                Int of Dec: 

X-Int:                                        Y-Int: 

End Behavior: 

 


